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-w41=3, 3. HiEA HEEE
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:w42=0, 0. REM A EB
-w42=11. N ER AN ER
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PC #l& 1% :wd3=n. KI%E CH1 NERKINZE; n=[0, 1000000000] .
5]: PC # & 3% :w43=500000. CH1 K EBRKSNZEF 500Hz.

CH2 HNEFINE
PC # % 1% :wdd=n. FiFE CH2 AERINZE; n=[0, 1000000. 000] ,
f5]: PC # % 3% :w44=500000. CH2 MR $NZEF 500Hz.

CH1 AM E&IREEL ASK 1B
PC # % 3% :wdb=n. 3RiZE CH1 AM %R ; n=[0, 2000],
5): PC #l% 1% :w45=1000. CH1 AM iA&SEE F 100. 0%,

CH2 AM FHIRED, ASK IEFE
PC #l%& 3% :wdé=n. SKI%E CH2 AM FFRE ; n=[0, 2000].
f5]: PC #1& 3% :w46=1000. CH2 AM iA%IRE F 100. 0%,

CH1 FM SiZRpE=
PC #l & 3% :w47=n. RI&E CH1 FM SR {mZE; n=[0, MAXF]; &/\EFHEE] 0. 1Hz.
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PC #l & 3% :wh0=n. 3RiZE CH2 FSK BEFisnE ; n=[0, MAXF]; &/NERHZ] 0. 1HzZ,
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f5]: PC # % 3% :w51=1800. CH1 PM I fm=} 180.0° .
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PC #1 % 1% :w53=n. 3FiFE CH1 BkHEEE; n=[0, 4000000000] K REVETEE; F=/EHE
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f5: PC #% 3% :w53=20000. CH1 Bk:* %= 35 20. 000us.

CH2 BXKH3ERE

PC #l% 3% :w54=n. RiIEE CH2 BkHIERE; n=[0, 4000000000] T REVESERE; &/ EHHZ
0.001us, &K 4s. RESHFE7BE 4s.

f5l: PC # % 3% :w54=20000. CH2 Rk ¥ 3% g 20. 000us.

CH1 Rk /EHA

PC #l%& 1% :w55=n. JiZE CH1 Bkoh/EHI; n=[0, 4000000000] T REVESEE; R/NHEHHE
0.01us, X 40s. WESHFTEZEIT 40s.

f5: PC #l % 1% :w55=20000. CH1 Bk & EAJg 200. 00us.

CH2 Bk &

PC #l%& % :w56=n. JZE CH2 Bk:H/EHI; n=[0, 4000000000] T REVESEE; R/HEHHE
0.01us, X 40s. WESHATEZEIT 40s.

f5: PC # % 1% :w56=20000. CH2 Bk /EHA % 200. 00us.

PR RE[ER, KHE]
PC #Hl%& i% :w57=n1, n2. 3Ri& B BkoAsE R 4.
n1 7~ CH1 iBi8; n2 37~ CH2 @&; n1=[0, 1], n2=[0, 1],

PC #l %1% CH1 1&B1& CH2 ®&
-w57=0, 0. =] =531
w57=1, 1. K 1E R [

BERTZRIFENM, EHK, fAmK]
PC #l %1% :w58=n1,n2. KIEERELBEER.
n1 7~ CH1 iBi&; n2 37~ CH2 @&; n1=[0, 2], n2=[0, 2],

PC #l %X CH1 B8 CH2 &
:w58=0, 0. EL T

:w58=1, 1. E&XK E&X
:w58=2, 2. fAmK AR PN

RERM ERY, Sithi]
PC Hl&i% :w59=n1,n2. RIEBHRIH.
n1 7~ CH1 iBi&; n2 37~ CH2 @&; n1=[0, 1], n2=[0, 1],

PC ¥l %31 CH1 1®5& CH2 1&g
-w59=0, 0. ERM ERM
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PC #1 % 3% :w60=n1,n2. RIGTEMEIR.
n1 7~ CH1 iBi&; n2 37/~ CH2 @&; n1=[0, 3], n2=[0, 3],

PC #l % iX CH1 B8 CH2 &
:w60=0, 0. 1R R
-w60=1, 1. BE RE
:w60=2, 2. SMEB AC SMEB AC
:w60=3, 3. 4MEB DC SMEB DC
WEEL KDY

PC # %&3% :wél1=n1, n2. FIGBI=E Bk,
n1 $e7% CH1 i@i8; n2 <7k CH2 i®3&; n1=[1, 1000000000], n2=[1, 1000000000] »
f5]: PC # % i% :w61=20000, 10000. CH1 ¥&%& kA #15 20000 4, CH1 Y& Bk % /9 10000 4.

M= Ihee
PC #l % 3% :w62=n1,n2,n3. KEBMEINEE.
n SEE BERT
0: 3% (Ext. IN) B4
n1 [0,1] - N
1: B (Ext. IN) 4
n2 [1,10000] i8] [ 7 BF (8]
0: =i
n3 [0, 1] 1: &5

PC #l % 3% :w63=n1,n2. RIREMEHHIX; n=[0,1];n1 MEHFX, n2 HHIFX.

PC #l % % M= FFx T X<
-w63=0, 1. % FF
-w63=1, 0. FF *
AR EEDEE
PC #l & ¥ :wéd=n1,n2,n3, nd. RGBS INEE.
n SeEl BERR
0: CH1 Hi1&
ni [0, 1] 1: CH2 BE
n2 [1, 64000] FA$H Bt (8]
0: a7 EBEE
n3 [0, 2] 1: AW ENER
2: Pi|AEEIR
3 0. 1] 0: PRk M
' 1: FAHFHRA T

PC #l% iX :wé5=n1,n2. RFEFAEEIFX; n=[0, 1]; n1 3UFFXR, n2 FIEFF XK.

PC #l %% P = EEFF*
-w65=0, 1. x 7
-w65=1, 0. HF x

PC #l%& X :wé6=n. RILEEIEINE; w66=100. KFTEIRIMNEA 10. OHz.

PC #l& X :w67=n. RIFELLINE; w67=1000. X3 = 3NZEKA 100. OHz,
PC Ml & 1% :wé8=n. RIZKEIIGIEE; :w68=1000. XTI IAIEE /9 1. 000Vpp.
PC #l& X :wé9=n. RIFELSMRE; :w69=8000. {X3kL& S l&E A 8. 000Vpp,
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PC #l%& % :w70=n. RIEFIEIEETEE; :w70=1000. RFRAIHE HZEE A 10. 00%,

PC Hl& % :w71=n. RiIEEL S HZFLL; :w71=8000. XFKL& = 5L 80. 00%.

PC #l& 1% :w72=n. RIGEHITRNBERME; w72=1000. KFTHNEBEREEH 1000,
PC #l 41X :w73=n. RHFITHERKEBERME; :w73=45789. KFTH/NBERIEE N 45789,
[BiT:r74=0. 5SS AMEH EMH/NEEREEMRABEREME, Flan:

4= r74=0.
L @ :r74=03724. GNE/NEBERBPEEREREN 3724)
%= r74=0.

Y~ :r74=46529. CGUNEKBERRBBEEREES 46529)

BB w72=n. F1:w73=n. {5 S KIEEH/)EEREEMFKBERE, Hl0:

2= :w72=3724. CNE/NBERBBERAEE 3724 ZEAR/NBEREE)

I @ : ok

=< :w73=45789. G KB ERTRIEBEEREE 46529 K E AR KBEREE)

I ~ @ :ok

]

BB MK

PC Ml & iX :w74=n1,n2. RZEM%; n=[0,1]; n1 FT/xCH1 fillk, n2 /R CH2 fl % .
PC #l %% CH1 fili % CH2 fili %
-w74=0, 1. BT E1T
:w74=1, 0. BT REIT

B A
r 8

riESAIEEES, HaOBASEANESHRAELR—Z, BRFESHA, UTHFEENN
=& 5.

PC #l4%& 3% Ml 25 1R [E] L)

:r10=0. r10=1, 1. FTRIBIE 1 M 2 FERERESITH

- r11=0. - r11=001. FRBIE 1 MR AR

- r12=0. :r12=001. FORBIE 2 WMHAURE AR

- r13=0. - r13=000010000000, 0. B8 1 AU SRZR A 10000. 000 B4 g Hz

- r14=0. : r14=000010000000, 0. B8 2 BYHIE SREE A 10000. 000 B4 Jg Hz

:r15=0. :r15=05000. 118 1 BIIEEiH A 5. 000Vpp

:r16=0. :r16=05000. 118 2 BIIEE 44 A 5. 000Vpp

-r17=0. - r17=1000. BiE 1 BmE L A 0. 00V

:r18=0. - r18=1000. HBiE 2 BUmE L 79 0. 00V

- r19=0. :r19=5000. BIE 1 B AR 9 50%

:r20=0. - r20=5000. BiE 2 B e st A 50%

:r21=0. - r21=00000. B8 1 BIMERL N 0°

:r22=0. - r22=00000. B8 2 BIMEHAL N 0°

240, 124200, 03, 02, O4. f%&%zﬁﬁﬁﬂhﬁqﬂ%zﬁﬁqﬂ%ﬁh%%
7rH
RISNRMBFE L

72520, :r25=110000. (BERE SNBSS R 5)

- r26=0. - r26=55. RRHIBSHEFEMHESS NE

:r27=0. r27-1. RRVSEIREEEABIRES

- r28=0. - r28=095. ARG =E AN 95%

:r29=0. - r29=1. TR AP AFE
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:r30=0. :r30=21. UEBERRITRE BB 21
-r31=0. -r31=15. UERNNMEEEEE A 16 D
:r32=0. - r32=0. HEDER BB EA BRI R
:r33=0. - r33=50. SRERE R 50
- r40=0. :r40=3, 3. CH1 iBiE AENE, CH2 iBiE AR
:r41=0. :r41=1, 0. CH1 SEIE AR R 7578
' CH2 BB AHI R B R A IE%K
CH1 IBEESIRAMNEE
- r42=0. :r42=0, 0. OH2 B 1= 2 U o0 P26
- r43=0. - r43=0000500000. CH1 188 A &K 551 % J5 500. 000Hz
- r44=0. - r44=0000500000. CH2 188 A &K 551 % J5 500. 000Hz
1 r45=0. :r45=0800. CH1 jE1E AM i85 RE 5 80. 0%
- r46=0. - r46=0800. CH2 @18 AM BEIREE F9 80. 0%
- r47=0. - r47=0000020000. CH1 i&B3& FM $Z{RZ 9 2000. OHz
- r48=0. : r48=0000020000. CH2 i&B3& FM 52 {RZ 9 2000. OHz
- r49=0. : r49=0000020000. CH1 j@1& FSK Bk55 /g 2000. OHz
:r50=0. : r50=0000020000. CH2 j@1& FSK Bk55 4 2000. OHz
:r51=0. :r51=1800. CH1 1&3& PM #B{: /3 180. 0°
- r52=0. - r52=1800. CH2 j&#i& PM #8{i 4 180.0°
- r53=0. - r53=0000000100. CH1 J@iE kA FEE /3 0. 100us
- r54=0. - r54=0000000100. CH2 J@iE kA FEE /3 0. 100us
- r55=0. : r55=0000001000. CH1 j@i& kA HAJ9 10. 00us
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